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2 5,405,024 1,332,875 4,072,149
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S F D | 648,623 644,623 4,000
= 124,722 109,726 14,996
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Al 5,437,132 4,715,444 721,688
6,031,670 5,132,830 898,840
2 1,084,441 815,692 268,749
SEEREEI | 648,623 644,623 4,000
= 603, 621 457,788 145,833
Al 3,694,985 3,214,727 480,258
1,980,241 1,290,481 689,760
DEms mu A = 332,730 112,730 220,000
= 158,605 29,605 129,000
Al 1,488,906 1,148, 146 340,760
= opolF AL B FHIXI & 29,960 0 29,960
206 W28l 29,960 0 29,960
01 Tl 29,960 0 29,960
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35,0002 *1,070 | £ *80/100 29,960 0 29,960
FNnegnel 92,908 83, 108 9,800
201 Lyt | 87,908 83, 108 4,800
02 Izl 25,900 21,100 4,800
O1 2222 2 HAl 24,000 19,200 4,800
>EIQT(EA 2™ 24,000,000 24,000 9,200 4,800
401 AIEHIL 2T 5,000 0 5,000
04 Al&ZH] 5,000 0 5,000
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5,000,0002 %14} 5,000 0 5,000
275,000 0 275,000
= 220,000 0 220,000
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= 16,500 0 16,500
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275,000 0 275,000
40p ot xt =0l = 220,000 0 220,000
= 16,500 0 16,500
Al 38,500 0 38,500
01 PIANZDE 275,000 0 275,000
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Al 262,500 0 262,500
375,000 0 375,000
402 RIZERFE0| & [ 112,500 0 112,500
Al 262,500 0 262,500
01 QIZIR=Ex 375,000 0 375,000
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750,000, 000! 50/ 100 375,000 0 375,000
[ 112,500 0 112,500
Al 262,500 0 262,500
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Al 134,942 124,942 10,000
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402 Q1K =0 & 10,000 0 10,000
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= 244,327 237,791 6,536
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5,000,000 *14! 5,000 0 5,000
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02 QI2FCHBH AN HI 852,000 792,000 60,000
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2 6,925 6,925 0
D S 9] 648,623 644,623 4,000
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Al 76,925 83,405 AB,480
D HES ALY 0 6,480 6,480
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i Hl 4,000,000 *14! 4,000 0 4,000
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01 DIAT=EE 418,342 282,342 36,000
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Al 8,000 0 8,000
14,000 0 14,000
402 QIZERHE01 N < 6,000 0 6,000
Al 8,000 0 8,000
01 2Zt=EEx 14,000 0 14,000
OSMSEIAE HSAY
20,000,000 *70/100 14,000 0 14,000
= 6,000 0 6,000
Al 8,000 0 8,000
sa228 JDIX 2,000 0 3,000
2 3,000 0 3,000
402 BIAXHE20|H 2,000 0 2000
= 3,000 0 3,000
01 2ZttEEx 3,000 0 3,000
OLYES 15 6,000,000& *50/100 3,000 0 3,000
= 3,000 0 3,000
4,759,494 952,260 3,807,234
= 4,088,523 283,923 3,804,600
SEELEER B 200,000 200,000 0
< 137,049 135,732 1,317
Al 333,922 332,605 1,317
4,212,004 404,860 3,807,234
Mol o Ao = 4,076,523 271,923 3,804,600
< 48,749 47,432 1,317
Al 86,822 85,505 1,317
8,034 5,400 2,634
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Al 4,017 2,700 1,317
8,034 5,400 2,634
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12 JIet243 3,804,600 0 3,804,600
OASEXXZH 3,804,600, 000& * 14! 3,804,600 0 3,804,600
= 3,804,600 0 3,804,600
1,790,200 1,566,000 224,200
= 232,060 233,260 A 1,200
sgZd= L3 = 124,722 109,726 14,996
= 196, 460 179,480 16,980
Al 1,236,958 1,043,534 193,424
420,800 393,200 27,600
Ho=olol ZHSA = 25,760 26,960 A 1,200
= 30,150 15, 150 15,000
Al 364,890 351,090 13,800
6,000 12,000 26,000
SH=s=ES = 4,200 8,400 A4,200
Al 1,800 3,600 A 1,800
6,000 12,000 26,000
301 et a3 = 4,200 8,400 A4,200
Al 1,800 3,600 A1,800
12 JIEt2& 3 6,000 12,000 26,000
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Z2& 6,000,000 6,000 12,000 6,000
= 4,200 8,400 A4,200
Al 1,800 3,600 A 1,800
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Al 15,000 0 15,000
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sE=X & Ngedst & 124,722 109,726 14,996
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Al 872,068 692,444 179,624
520,000 520,000 0
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= 104,000 104,000 0
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402 212t XH=01 A 200,000 0 200,000
01 SIZtX=Ex 200,000 0 200,000
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200,000,000& *14! 200,000 0 200,000
6,600 0 6,600
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A 13,566, 1403 x 14! 13,567 0 13,567
>2007H Gi&seel &S| XA
4,729,500 * 14 4,730 0 4,730
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280,500 * 14 281 0 281
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02 Al-EHEx3Be=s 14,975 0 14,975
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>2006E HBRBHXSH KA
263, 16021 14! 264 0 264
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900,000 * 14! 900 0 900
>2007E SR A0 YFH K
A 5,426,450 14 5,427 0 5,427
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>2007E SO0{RIAS DX # ALY
37,8402 ¥14] 138 0 138




SNsYEUD
HU P ES
S adNE CER-ED
SN B BA(E) - NRAY - B 0] &b o4 ol o HlRZ2
POSHSMS AXI| KA
150,000 14! 150 0 150
> DB QBN A A XY K B AN
74,7402 14! 75 0 75
> O1 &4 1 2 THUH XI 2 Ab & 33,8802« 14! 39 0 39
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